AL ol AU

@® 3164, 2116, 5280 @ 3164, 21160 , 24324

® 3174, 2116, 5290

@ 3174, 2116 , 24334
@3174 , 21160 , 24334

~&B

Fohe 52 A9 2ot 4] AR o] Bt 7,
Aelo] B3t Al0) Arele] & Hete] FETh
929
X 46
3174
2116
24334

Q]
=

94




e DT

@100+50 @ 80 +20
@ 240 + 40 ® 350+ 70

® 640 + 80

02,0408 ®6,05
D<@0<B®<®<B




®23+-20=1---
@34+20=1---
®36+30=1---
@T7T+40=1---

®89+40=2---




4cm 7t E=th

.4

824 + 20 = 41
41 71 E 7=




2 743718 o Al 25714 o 2 A=Al B A Al
A A = FFohA L2,

> E: 32t
> = Rl
= e
> =g 184

743 +25=129...180|B=
293271 5 1, 18707 =




6. A}ﬂ%é Fakol] 45714 200474k 9L, B-& @ AFztel] 38714 300

b e, B B H 1A oA

B 7N

>
> =e 20400 7

S5
(Ate] =)

=(3 &7l &1 = A )% (A3t )
= 45 x 200 = 9000(7N)

(Z9 %)

=(3H 7ol 201 Sl 29 47) x (A )
= 38 x 300 = 11400(7)

— 9000 + 11400 = 20400(7H)




7. TR URAlo] AARA o g guke Ao o]L A7

® 90x3-42 @ 90x3x42 ® 90+ 3 x42

@ 90+3+42  (B)o0x3+12

B

*
A) B oK B =k x A+O=mG U T},
Y

I8 B2 90 x 3 +42 = 312 YUYt




8.

ohe LhRAlS Adtetel, B U A e 57k AR
ol AAYA? (F 27)
@570 +45 @ 868 =+ 54 ® 200+ 15

@ 897 =54

~&B

@) 169 + 62

4

rlo

A

rlo

@570 +45=12---
@ 868 +54=16---4

@ 200+15=13---
@ 897 + 54 = 16 - -
®469+62="7--

30 (% 12+ Y™ A 30 = 42)
(% 16+ ™A 4 = 20)
5 (% 13+ U™ 2] 5 = 18)
-33 (516+ L 2] 33 = 49)
-35 (% 7+ U™ A 35 = 42)




S FANA O ©& A2 ThHE o], ZH2e] :_00
obd =S YeRH AL Qs O3 ©9] 522+ At 2 FoHA 2

OO
X QO
AN
OO0
[5/5 2 G)6]

vV V. v Vv
04
U (L 1
\]

02
L
=

B

4%x4=16,6x6=3602&

©O=2 4 E= 6% sfLfolth.

OxDY Ao A9 274 BE 520 F9E FEr
TXT7=490|B& @2 70|t}

wabA FAAlS AASHH 57276 ©] E 1L 57276 + 74 = 774
ojBZ ©2 4°|th




o3 22 5 Ao] 52t =gt %HE}. o] TZ]' 7IER F 49
Fol 71 & 7t HEE ks F & 5 T A 5 oA L.
3((4||5]|6]|7
LI =]
» &
> &®E ™4
5 49 Fo| 7 & 47t HES of=H
T A= FAE ok AAte] o] gt o] & A7t ehof

gt

o2 Wl 74A] H$-7F Qi
754 X 63 = 47502

753 x 64 = 48192

654 X 73 = 47742

653 x 74 = 48322

mrEkA] P2 74 0]t}




